
 

 

Mixed Problems on Addition and Subtraction 

 

Let us do some examples on Addition and Subtraction. 

Example 1: Simplify:  
 

  
  

 

  
   

 

  
  

Solution: = 
  

  
  

  

  
  

  

  
 

                  Now, LCM of 24, 16 and 12 is 48 

                 = 
         

  
  

   

  
  

 

  
 

Example 2: Simplify:  
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Solution:  = 
  

 
 
  

  
  

 

 
  

                      Now, LCM of 4, 12 and 3 is 12 

                  = 
        

  
  

  

  
  

  

  
 

  




